1. afe .n:@hl%M R, W sin0 = WA T
& v &1

5
@ 3 BT TR w

®) |W.§~lmu.4@.@mﬂa

@ I -
(d) S F ¥ TE &

2° no%qﬂﬁ+no%uﬁﬂ W AE TR ?

Y

4. v i o @ ARF T W
mﬂw%ﬁwmﬂ:mﬂmmﬁﬁ

¥ ad R i ¥
dﬂdﬂmﬂﬂmﬁmﬂauﬁﬂnew_mﬂ.m

(a) heosO
(b) hsin0@
(c) hcos26
() hsin20

m.ﬁﬁﬂﬁaﬂaﬂs%ow%md
e 0w W @ A W TR R
o x e e B o ¥ 1 AR T
& 3é Bx W 2, A Frafefem #

T wE R ?
(@ 0<6<30°
(b) 30° < 6<45°

(0) 45°< 6.<60°

o ran(5)=5 0
0<x<6% A xfras | R ?

@ 1
®) 2
© 3
@) 5

_.
If .»___au..mwl‘ then whiat can be gq

Value of 5ing ?

(@ 3 5
) 3 but cannot be -3
b -3 5
3 but cannot be 3

S 5

() L

© o -5

* (@) None of the above
ﬁé{c., fge Y

@

Gl

3. What is aunﬁméu Jw_»@mn&
equal to ?
(a) sin20
(b) cos26
(c) 2sin6

(d) 2cos@

]
. ont?
poriZ ol
4. A vertical tower stand® on w“ a <nn=~_un
plane and is Ea_q::.nm _uo:: QM._ the
flagstaff of height /- At 2 ion % . 0
plane the angles of n_nﬁ.ﬁﬁn E‘mwa
bottom and top of the numm the B¢
and 20 respectively- what
of the tower 7
(a) hcos@
(b) hsin@
(c) hcos26
(d) hsin26
qes %
be of

5. The shadow of a tOWer
metre longer, when
elevation of sun chang€s

correct ?

(@ 0<6<30°
(b) 30° < 6<45°
(c) 45° < 6<60°

(@ 60° < 6<90°

o mrfQomr(3)e1. e
0<x <6, then what is x equal to ?
@ 1 :
® 2
(© 3
@ 5




10. sin0° + sin10°+ §in20° +8in30° -+ 4 :

7. afy 3sin-lv +cos T = R, AW x ford sinagoe w1 T ®7

9.7f% c+.mm§$€$u~ g @
an(106) 1 T R 2

@ 0
® 1
© 2
(d) =

DFR-S-HTM - C

S § 3 Pw /Ay T @
2/t :

(@ ¥l
() w2
(© 13R23mt
@ TXN1,TR2

il

9. 1f (1 + tan6)(1 + tan96) = 2, then what
is the value of tan(106) ?

@0 .-
® 1
© 2

@ Infite -

+
R R 7 7. 1f 3gin-ty + cos~'x = 7, then what is x 10. What is the value of ik mmbuoh. 4o
@ -1 equal to 7 5in0? + sinl0° + 5in20
(@ 0 ; 1 ok 5in360° 7
i 1 (L) 0 o 2
) 1
() 1 (b) 7 ® 0
1
© 2 w2 © + © 1
2
1 s A={l, 2 % 4 F wh @ 2
@5 Syt W freR AR ST Y oL omenmaﬂ
form T (4) ¥ I E 2 el 1. Consider all the sobet® e pemd ar®
Wﬂﬂ~3n+gmu_lga.guw,ﬂ% f : knﬁ.n.u,w.mqﬂﬁﬂuﬂ
mnatnfel B T Feafiie § 9 @ 6 8.1f tang+ tanfi= | — tanutan, wher supersets of the set
. tanatanf1, then which  of the
-1 (a+ ) F A F T AT : ®) 7 following is one of the values of @5
Rit (a+p)? o
5 (© 8 ] e ® 7
n
@ % @ 9 @ % © 8
% 12,21 s wet 4 9K B % Wy ¥ ®» Z @ areas
n 2 i 12. Consider the following auaww:uw B:
s 3 1 kacw.vuvkmk 9at x¢ B ‘ © .th 5 respect of two non-emptY o
T : ; : 1. xe(4U ¢4 or xeB
2. x¢(ANB) = x¢A 3R xgB s =Bz
" 9, 2
o G

" 2. xg(ANB)=> x¢A and x¢B

Which of the above statements is/are

correct ?

(@ 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

C - SDFR-S-HTM




: v At /@A T . T e MR .
:&%ﬂéﬂ&\_wﬁwyﬁsm S 3 A/ T ) ar®
e W R A L4 A oy o™

« Consider the following statements | . sta
=ANB Y Al 3 ents in Which ve
8 ”_.._\.mm " W, A, (a) 1 30R 2 Tespect of two non-empty sets A and g - ncLMn. %n e avw\
y L AUB=ANB iff A=
2, AaB=p R IR ¥ afs 4 =D (b) e 2 T3 3 ’ \3. 5=y (a) 1and 2 only
%mw%-ﬁ\mﬂﬂ-ﬂ%i «AAB= piff A=B
2/ (c) w1303 M;mn__ of the above statements is/are (b) 2 and 3 only
: Orrect 7
(a) ¥l @ 1,233 @ 1 only (c) 1and3 only
() 2 ®
! 2 only (@ 1,2and 3
CRELN 1pa 11 (©) Both 1 and 2 .
an.
g ARLAR2 = ARA, = it
@ 16.af% 4, NN\ 2|7t () Neither 1 nor 2 Tra g ?
14,78 2-5y+4?=0 T W xRy T P P g 16.1f Ay =|1 g r|land B2 , p 4
%%gyiim Q%ﬁﬂnﬂ~..@->.+bnw 14. Consider the following statements in 1rp :
) respect of th i i + 82 %
S @ pect e relation R in the set IN where p#q#r, then 1
w€g R feafifea ot of natural numbers defined if
frare T o = Lt
. : ~Sxy+4y2=0: @ 0
1. RETE ® ~ (b) R HAES L R is reflexive
2. REERT R L5 ; 2 Ri etri (b) always positive
: () THYT FHOITHD 28 5
3. R EHEE § 3. R is transitive (c) always negative 3
F A T-T/FA-] T AE i i - iti
4 dm.wm“ f / ki () .&w P, g X wom Which .wn the above statements is/are (@ positive if p, g, r are Positive else
- R/R? AT HITHS correct ? vomunmuna..nwn
R — (a) 1 only
®) Faw2 17.9f¢ Anlw.wﬁu!.nxhlnvun 114 () 2 only 17. If (a—BYb—cXc—a) =2 and abc =6,
© ¥ 13K 2 a b ol (€) 1and 2 only then what is the value of
; abc=6 % A |a® B F| W W a b e
@ 1,213 LRI (.5 Be0d & b %/.w
15. frlt o A W iR N u R & R ? 15. Consider the following statements in @ v e
fre frffee Fot ) Rew SR respect of any relation R on a set 4:
LakkRr -1 @ 3 ; 1. I R is reflexive, then R~ is also @ 3
@I ¥, MR A Eg R e
eilexive
2. 7R R vl , R SR wfa o 12 ©) 12
2 ) 2. If R is symmetric, then R™! is also
= ; 14 : symmetric
3k R W 3, @ R SR & - . 0 e
| N | 3. If R is transitive, then R! is also
@ 15 | transitive @ 15-
Al
-C 6 ) : SRR 7 ) C - SDFR-S-HTM
1 &
1




;.mn_@amm&waaﬁ&ys&x

abc

%%f @ A R 7

nb&

lLa+b+tc=0
2. @+ +c = abe
3a+bi+—ab—be—ca=0

AR Ry R W wEw R a@ IR
(L

0.9R 4=|-2cos0

2sin6  cos@ 0

sin6 0

() Y@ AR
) -1
18. Under whi ;
1 - which of the following eong; )
2 tions does the determinant > (@ Null matrix
@ 21 a b ¢ (b) -1
SRl 1 U awE e | wnnﬁ::_: oy ¥
¥ fra wm & e Lash 0 (& 21
21k wA AT Lathrc= :
where [ is the identity T2
2c0s20  2c0s20 6 2.a+5 + = 3abe is : :

Nn.dﬂ%?w;,ﬂﬂmwﬂﬂ?%ﬂww

1-2sin%0 2cos?0-1 3
k 2k 1 £

La+b+d-ab-bc-ca=0

Select the correct answer using the
code given below :

(a) 1and 2 only

'

A=[mn), B=[-n |3.§num1.
R B-adid ¥ Pefifea ¥ 3
FRA/ A T R R/
' 1.4B=B4

1. CA=CB
. 2. AC=BC
3. C(A+B)=CA+CB

‘Which of the above statements is/are.
correct ?

®) 1and2anly-
(c) 2only

1,2and3
@ 1,233 @




AL

deg prafifeE At o RER

S :

|, af AB T X g R, AN
p A AT N w
I ©

2 aft AB T TS AgE &
BA=AB®

s # A AW/ T T

/R

Amwwﬂﬂu

®) 92

(© 18R2At

@ FRLAR2

M“.qw;.%wuﬂﬁﬂ.: 2
2 sk B W wRad ¥ RO

23

(a) 1
()
©

FH-a1/F-8 T wE 2/R 7

C=A+B ¥ GRAE & 71 TR ¢

:.?.woﬁ_!w%w A oy
27
(@ 9

) 10
(© 19
() 20

27, ()0 % AR F W Freafye
Tt W R Ak

1 ua«muimﬂmw%ﬁ#.

T .ﬂﬂ.“.«.q_d— sty ?

2. Wk I8 I,
S

=

@ 42
®) 35
() 28
@ 21

25. Let 4 and B be non-singular’ c

23. Cotisider the followin
2 statementy
fespect of square matrices 4 and g Mn..
same order :

116 AR is a null matrix, then 4
one of A u:&hﬁu:::i.nﬂu—

2. If AB is an identity matrix,
BA = AB. e

Which of the above statements js/are
correct 7

C=4+B?
@ 1
® 2°
@© 4
@ 8

of the same order such En»hhw“v and
BA=B. Which of the follo
statements is/are correct? .




29. What is the value of
Qu-.n_vlﬁAm_.nuv.vn.G_.Nuvl
C(51,24)+ C(51,25) - C(51, 26) +
C(51,27) - C(51,28) + C(51,29) _
C(51,30) 7

(@) C(51,25)
© C61LSN-C6L0)
@ Q51,25 - C(51,27)

) c(51,27)
An_v Nnco

33. frfifra Ft R FER i, :

() C(51,51)-C(51,0)

d) c(51,25)-C(51,27)

4003 S 3, [ R fER A

i frrm R h Iw T L4, 6% fora ?, et n>3t 30.How many odd umbers becween 3o

A 2. wlT.u.Z_fﬂw.i._vu mm“c.._wﬂwmmhwz ich none of the
e e % T/ T g i
®) 36 W\m ? 3 o
(c) 40 () FEA1 ; o

@ 4 (b) Fe2

() 1323t @ 45

31. What is the principal argument of m.ﬂ

$ ‘@ AXLAR2
34. 9 Raenfeat # A 5 Raenfeat

where i=~/—-1?

3z

32. What is the modulus ©f
?ML%S g

2 2

N

(a)
1
® 7
() 1
(& 2
ts
33. Consider the following St

where n>3

s divisible by 6,

!

ere
i divisible by 7» VB

‘Which m»-nﬁ above statem
correct ?

ents -m\n—‘n

(a) 1 only

(b) 2 only

(c) Both 1 and 2

(d) Neither 1 nor 2
34. In how many ways can a team of 5

players be selected out of 9 players SO
as to exclude two particular players ?

(@ 14
® 21




39, af x34y3 = (100010111), 3%y

n R
+
.,.A.:.& ¥ WR am, & @ -1y ?ﬁm
@) R TR (= TR R ? "
TR &t # qafe ?) @ (1101, 35. In the cxpansion of ﬁu+mv , what is
Qa@2n, A the (n+ 1)th term from the end
M.“ c@n n- (b) (1001), arranged in descending voniao.“a AMWWVQ.W
© c@nn (© (1011) B sctl, e
@ C@n,n=1) ) (111), (b) C(2n, n—1)x

() C(2n, n)

36 7R frft ¥R Aok (Ap) F waw 9 40. srafrEait @) C@n, n-1)
&ﬁ“ﬂd. meg:qu,. S¥—4y+12 <0, x+y <2, x<0 3 - e B9 :
QATER AR Wﬂﬂmw?ﬂ . e sum of the first 9 terms of
» T T W 20 YR _Wqﬂgﬂww muna:u_pom:n—owﬁnmaa:nhnpw.

= TR %hﬂ?ﬂ%ﬂ@ﬂmww then what is the sum of the first 20

MN w” (@ (0,0) ”nwaww
a,

e ®) 2,4 ®) 10

o © 1,4 (%2

@ 1,2 , (249

37.3R frdt TR AR (AP) @1 5T wg

i .
aw%ﬂﬂ_oﬁﬁww.%ﬁs

0 9ol T AR T ¥R ?

37. If the 5 term of an AP is 75 and its

10t term is W.Eﬂh what is the sum of
first 50 terms ?

AT y=[x, xeCL1) F wEw §
Frafafen =@l w R i, et
[] weww it W R ;0 :

L. x=0-5 R A& THAA 0 T 2
S A ®) 255

2. 98 x=0-5 | §aq & © 26
N k 3 @) 265

"'38. What is (1110011); = (10111), equal
i to?

@ qon,
® (1001,
© am
@ aomy,

(©) 13K 235t
@ AdLA@

e

39. If x> +y3=(199010111)2 Hnm\vn +xY

(11111);, then what is &~
equal to 7

(a) (1101),
() (1001),
(9 (1011,
@ iy,

40. Consider the inequations £<0 and

MNIAVTT—NAPN..‘\.:AN.
y>0. Which one of the

points lies in the common r¢!

following
gion ?

@ 1,2

41. Consider the following statementS

in respect of the function y=(k
xe(-1,1) where [] is the greatest
integer function :

1. Its derivative is 0 at x=0-5

2. It is continuous at x =0

énromﬁn»co<nm5»nwugﬁm\wu.o
correct ? - TN

(@) 1 only

) 2only




45, &G y“ =4k IR uﬁ#;&.

) AT R S
24 S ©, k>08 _ k| y
« I uﬁw ? Y ko 42, What is the degree of the differentia| 45. The area of the region wo.ma“«%wwm
2 4 the parabola 2 = 4ix, WheT® = °  mits-
® 3 @ 1 cawion 1+( %) =| 21 i s ecum s 24, S0
3 dx) "\ a? What is the value of k7
2 \
®) o) 2 4 @ 1
© 3 : (a) 3
@4 ; ® 2 ®2
RES © 3 © 3
@ﬂ%&gnﬂmw,ﬂ@w%,ﬁ , o .
8 vt f e e % e e @
L MB T 100 & & 43. A radioactive substance decays > . there of
@a. jA W RTw (srgahe rate proportional to the amount 6. Hov GER® in
o) = R 2 ; substance present. If half of fthe -
substance decays. in 100 years, ther
in2 what is the decay constant (propor- =
@ To0 ;

tionality Snw.m-é ? 3

Ins
100

© 18

@ 12

47.Let @ and B be the roots of the
equation x2+px+g=0. If a> and
B3 are the roots of the equation .
2+ mx+n=0, then what is the value’ sk

i of m +v= ?
e 1--v" ? @ pP+e+pg
®) PP+a-pg
© P+gP+3pq © ©,2 © P+e+3pg

@ P+gd—3pq @ ©.2 @ PHe -
16 : : : :




(3x2x1)+4(4x3xy,

8
52.2(2x1)+3

s g :+u? {
3R p, WHFT S(saxaxax 1)+ e o L
a.nma m..i\wmhﬁvlnnownwymump v wnexquxaxuxaxuxwx_:nﬂ_ : _»
e o e & e s |
astcot? @ 1 |
@ m'.ﬂn?.+nu+nuo © 100 k
®) mlalu»+nula“o @ w0
© »u+B.+u».+Qu+nn.o _ ﬂ
@ ...u+P..+h.n+Qu|n“o (d) 11+10!
= 3} R A4
CUiE s3.afe 4={(1, 2, .
%.Mw.l&\vqlhx.vvn+nnuowuﬁm gea (TR @NV vy s
e £, A PR & & A & ? . . ;
e @ 1
@ a+b+tc=0 ® 2
Q)] a-b+tc=0 sy
© a+tb-¢c=0

@ —a+b+c=0 ﬁn—v 8
50, 7 W & IR B (@> B)r
2 8r+g=0% 7 €I o
afs o?- pP=16%, AW AT T <

48. Let o and  be the roots of the equa.
tion x2—ar—bx+ab-c=0. What is
the quadratic equation whose roots are
aand b7

@ X2—ax-Prx+af+c=0
®) X2~ ax-Px+ap-c=0
(€ P2+ax+Px+af+c=0
d) »2+ax+px+af-c=0
49. If the roots of the equation
P—ax—bx—cx+bc+ca

are equal, ‘then W one.
following is correct 7 -

(@ a+b+c=0
® a-b+c=0Re et
(© a+b-c=0 ;
(&) —a+b+c=0

50.Let a and B (a>p) be the roots
of the equation x> — 8 + ¢ = 0. If
a? - B2 = 16, then what is the value
of g? 2L
@ -15

) -10

is the maximum value of 7 such
 divides (30! +35!), where nis a

52. What is the value of
2(2#1)+3(3x22 1) +4(4*

5(5 LTk EY B3 § B Lo
9(9%8xTx6x5x4x3%x2%1)

@ 1 L
® 100 ,
© 10+101

(d) 11+10!

53.1f A={{l, 2, 3}, then hoW
clements arc there in the POVEX

of 47
@ 1
®) 2
(© 4
@ 8

54. If a, b, c are in GP where @ > 0, 5> 0,

e T e S =

+27,

uxnxuv.f

+

c>0, then which of the following

are correct ?
1. a2, b2, c? are in GP

111
a’p’c

3. Va, Vb, Jc are in GP

Select the correct
code given below :

2. are in GP




R R - 3 .
1, @ PRI % 3w e
2
? 2
R i ®) 3 S50 5b 4, B e in bip i
¢ GHIaR ] 1357 s i,
@ &b (AP) # R ; then which one of the followin #yh (@ 3
®) a b TR Aoh (Gp) 7 & © 7 correct 7 ;
. ?v =
@ a+b bte, c+a et Aft (@) a, b, c are in AP 3
@GP & . : @ 3 ®) a, b, c are in GP i
: 73
S 5 3
@ =+.v_v+n.n+nﬂ.§dﬂw=wA>3 X () a+b, b+c, c+a are in GP
LR 59. 9 tan(45°+6) = 1+ sinzg @b, 5+ ¢, c+aare o AP s
> -Tco<Zy @ g . 2
56. cot?15° +an?15° & W T ® ? : 4 2 © T cos20 =y s 0
S X s .
@ 12 ; : ¥ 59.1f tan(45°+) = 1+ sin20> erﬂm
(@ 12 Egan - lmAmAm..EnaﬂgmmEnécno
14 i
2 (M) 14 cos20 ?
© 83 Y
R % o
@ 4 © 33 @
@ 4 1
51. 7 Fr 4BC #, © 1 ® 3 ‘ et
ind — . 0 57. In a triangle 4BC, o
sind~cosB—cosC=0% | @ 2 e e & i
‘What is angle B equal to ?
(s [ @ 2
60. 7T Ff9T sin2 <30, = 5 . & m
' Gk nOAS [T i 60. Let sin20=cos30, where 0 is acute’
g7 e : x angle. What is the value of 1 +4sin6 ?
0 R 4 - . J5-1
Tm fean @ & £ sinlge 3 Amznn that sin18° =~
: 2 .4
) 3
@ 3 T - @ 3
A3 7 k.4
®) 2 @3
© .,\w mw.,ﬁ.n.funm. and 2tana = 1, then what
is tan2 equal to ?

@3




t& HEAE

oS TTITe,
B 12=0, S& k=
ﬂﬁi&mﬂﬂ A, B3R CR F&
un_qmmm%;.m.n A RY TR A H
M&Mﬁ%éu+u~l~nlu&| z=0R 1

o kTR R ?
@ 3
® 4
© 6
@ 12

62. 7R p T T I A TS R =@ L
3, @ PR # 3 A-w T R 2
@ 0<p<0s
® 0s<p<1
© 1<p<1s5

@ p>15

S G (2) WL T 1618 MIUTR g
g . )
I )
@3,-0AF@RIl :
64. T R ol e % R
e ? }

@@ <3,2, 1>
®) <2,3,6>
(c) <6, 3,2>

@ <1,2,3>

@A (p+q+r)TFaF =R R ?
(@ 10 ‘

The plane 6x+hky+3z—12=0w
meets the coordinate axes at 4
respectively. The equation of b
Ppassing through the origin and A,
XAy 42 9 3y _4z=0,

61

62

here k¢
» B and ¢
€ sphere
B, Cis

What is the value of k?

If p is the perpendicular distance from
the centre of the sphere to the plane,
then which one of the following is
correct ?

(@ 0<p<0s5

®) 05<p<1

() 1<p<15

@ p>1s5

igh the origin and the centre of the

g for the Next three .

0
Consider the following for the next 7

Consider the followin
(03) items that follow :

02)

items that follow .

Let the plane mh+mwN+ _2 pass E-o__mc.
the point (2, 3, ).
64. What are the direction _.unom mo\. :
normal to the plane ? 53]
@@ <3,2, 1>
®) <2,3, 6>
(©) <6,3,2>
@ <1,2,3>
a.:wngnmmm
by the plane on

respectively, then
equal to ?

(@)
®)
©
@

k

10
11
12

13

66.1f 4/ +j—3F and pi+gj—2k are
collinear vectors, then what are the

possible values of p and g respec-
tively ? fre ,

@ 4,1

®)

1,4



Ly 3 o 2 R R

sk @
- :
2afy @ Wk b fn R oy 61.1f @, b, 2 are the position vectors of N
Y i & 1 b e, 0 Cromay s S
oy v gle an is nnnsndao». nEE..A.—an
Y I % A PA-A/BA-Y the triangle, then what is AG
® h+\u\\. 48 Ty o jangle, then what is equal ﬁhﬂnaw.w:ungﬂ nnnl\hun
c i
® umﬁuvlllln @) Faa 1 (a) :.vw @) 1 only
(b) ¥ 2 ®) 2 only i
@@ AdL,TR2 (d) Neither 1 nor 2
@ =2b=2e 70. 7 R 3 3T B, A T Wy v
S
i ¥ 6 [a- v_ANw IR 7 s
o8, Pt Tt W R Hif: ¥ e w20 R, O Pl 3
HE-HT ? 0
1. SRW TPEE, wRY qE | ..m%.w
<o § e : (8) ¥ 0<sing<1 68. Consider the following statements :
|w N 1 1. D t ector additi T o
® Wﬂﬂ Sl _moh_mﬂ..o.h”«.ngﬂ 7 = ®) -5 <smf<z.

2. Cross _u_.om:an over vector 2.558
is distributive

Cross product of vectors i



QA
75,21, 34,23, 39,26 37,40, 20,33 .

ard*wmﬂﬂ.waﬂd.ﬁﬂﬂﬁ.ﬂﬂ_» 3
T ® 7

@ o1

) 022

©) 0-33

@) 0-44

_r\\n\w@mﬁw

(sinx +cos x)

© 7

@9

. i ) (AP)% SQUR TR g
: ﬂﬁ@amaﬂgﬁﬁ \_%Zi

®) 24tanx +c
(¢) ~eotx+c

(d) )\NB_‘.,\« e

@)
()

‘() 100 : ©

(@ 102

eotx +¢

g ; ia-
72. The frequency curve (assuming un;. 75, What is the coefFicient of MC3° &NS\NP
modal) noﬂauvoam_.nn ...u the data tion of 21, 34, 23, 39, 26, 37, 40,
obtained in an experiment is skewed to 33, 27 (taken from )7
the left, What conclusion can be drawn mean,
from the curve 7 2
(a) Mean > Median > Mode ,
(b) Mean > Zon_n > Zo&g
(c) Median > Zo»n V,H.S&n
- B
B iRt
(d) Mode > Median > Mecan {
: o | ’ J s - \N
73. The variance of five positive observa- - 76. What is .—‘h @EM+ e equal to
tions is 3-6. If four of the observations '
are 2, 2, 4, 5 then what is the remaining
observation ? 1
@ -3
@ 4
1
® 5
®) 5 2
© 1
C@ 3

77. What is ._. (sinx |SAnOvalu\u&« equal
to?

¢B=N+n
2+/tanx +¢ A :




)

a—

¢ e ~_|-—«u+nl- 3 1
8. )
" anenfn T :
© 1!
Wi @ 2
® xte 82.3f% i §
)= = .
@ mE e af@)-1 @‘TK_L (2

forerdn R ® 7
@ = a5l

@ O

1 5 g frets SR R ? o1
:..—“N%& e =
@ -2 @ 4

@2

80, sindz + 2¢ 3 et T &/%,
oAuANNwN ?

g7 Dyi=13 A (L DT 9 e
R R ? 5
(@ -1
® 0
© 1
@ 4

e

= 'dx and /, = [&« X
then what is /; + 12 €qual to ? 23 i i Gainl 5,
daesl - () 5 TR
% :
Anv. .N|+n © 1 .
) 2
82. If .
1 \\u' o
A\Aavl\vauhNN+MVAnk %) .
it Enniru:u\ﬁv_onnw—n.ﬂﬂ ro ;
- (x, . @ 0 e e
. 79. What is ._...n ._w\_&ﬂ , o
o 1
@ -2 © 2
® -1 @ 4 ;
©1 : 8. If £(x) = 4x + 3, then what is fofof 1)
: to ?
@ 2 : equal to
Bt L@ -1
80. How many extreme values does ® 0
sindx + 2x, where oAMAW have ?
@© 1
@ 2

84. 1 X" = 1, then what is 2 at (1, 1) -
np:w:o..v. , ke

81. What is the maximum value of- the

function f(x)=——1

tanx+cotx’

where




® !
© 2

@4

i y= e+ 1,4 <x <3 T
mo.:ﬂdnﬂ_ﬁnﬂd.w _uulm.uﬂx

3y s TR

@® -

0 35

@ 3

@0

gr.aR &= sy, 5 YO =5 o
»() fos TR & 2
@ 0

®s5 -
-(c) 2Ins

30

et @ fofa 9w 1402 |

91, W & 7Ieq FT R ?
(a) 91-
(®) 9%
(c) 98
@ 99

1. Its

2. It is a continuous function

3. It is differentiable at x=0

R T

SRR UG ]
(@) e 1902 85. If y = (x*)", then what is the yaye o
& atx=17
®) Faw 23R 3 Z
(c) e 133 oL
@ 1,29R3 ; 2
: ® 1
89. lim, 2 (cosecx)* P Fm &7 Of25 ;
@0 . @4
® w ] 86. Let y=[x-+1], ~4<¥<-3 where [
is the greatest integer function. What
@3l F is the derivative of y with respect to x
() A atx=-357
Jim X1 mﬂ_w -
<90 B E=1 ®) -35
@0 @ 3
() 6 i \ ,
(@ ¥ e T 87.If mmn?&w with y(0)=1n5, then
%%ﬂ.%&ﬁ&.ww‘ﬂ»|a what is y(1) equal to ?
far Aifvrg i @ 0
100 ¥ 3% T AF F TH TG 1, x, ® 5
Xy i X ¥ Rrgamt @1 g .&d.l,now, d © 2ins : ;
92 % ¥ ¥ Mg T AH F A
: (d) Sins

88. Consider the following in respect of
the function f(x) = 10*:

domain is (-, )

aré
Which of the above statemen™®
* correct?

(a) 1and 2 only
(®) 2and 3 only
(©) 1and 3 only
(@ 1,2and3

%.Sawwo}susnmﬁﬁ_sw
@ 0

@© 1
(d) Limit does not exist
S.SN"w_meul_ equal to 7
NIL;'\WIIH
@ 0
®) 3
() 6
(d) Limit does not exist

Consider the following for the next three
(03) items that follow :

The algebraic sum of the deviations of a
set of values x;, x;, X3, ... x, measured ~
from 100 is —20 and the algebraic sum of
the deviations of the same set of values
measured from 92 is 140.

91. What is




@ 40

3% s e R A & T
e.wﬂﬁﬂmﬁ et A 180 % T Y

s 03 it % forg Pt <
(371) = freR R :
Ammum.m m—iﬂd%%g
(&P &, P o g 4 % 9K T SR
3R
94, STHIET T /ST TR ?

(@) 67

®) 71

e

32

ua.sﬁﬁwa@émﬂ&ﬂ?ﬁ

® 7

(@ -1

®) 0

@© 1

) 2
sy b (03 st & fore, Pt o
() e foae T 8
e Al (i) 3 R 90 G & 1wty
5o T & | THAFF AT A I
AgER |

97. P(G N T) frrts s & ?
® e

. ®)
©

@

wlh wnw v wni=

92. What is the algebraic sum of ¢,
deviations of the same set of yafy,
measured from 99 7

(a 0

() 10

() 20

" (d) 40
93, If the algebraic sum of the deviations
of the same: set of values measured

from y is 180, then what is the value
of y? o~

(a) 80
() &
() 90
@ 95 -
Consider the following data for the next

three (03) items that follow :

The marks obtained by 51 students in a class
are in AP with its first term 4 and common
difference 3.

94, What is the mean of the marks ?

@ 7
®7
@75
@ 79
95. What is the median of the marks ?
(@@ 795
®) 79
©) 785
@ 77

96. What is the sum of the deviat®
measured from the median 7
@@ -1
® 0
© 1
@ 2
Consider the following data for tbe 7€t
three (03) items that follow :

- There are 90 applicants for a job. SO™¢ ou.»..
them are graduates. Some of them have 165

Numberof | Number of .
‘graduates |non-graduates
At least
3 years 18 9
experience
Less than
3 years 36 27
experience

Let G be the event that the first applicant
interviewed is a graduate and T be the
event that first applicant interviewed has
at least 3 years experience.

97. What is P(GN T) equal to ?

@

e
uin -




© 743

o3 o %
3 i
: 101. 58 s B 0 MR & 6 6y
Ebm F 3 g oft 5o ol ¥ BRa g,
: -

03 o %

@3

TR w03 vt ¥ g Pratfes <@
() = faew dif -

et ¥, SR § e el @ ! it
s B i weATS N EHEAT 331% ® @ 55

865
729

653
729

59
729

98, What is P(G17) equal to?

10
; © 33
(a) m
(@ 162
3 729
® 3 2 “ .
‘@ 4 101, What is the probability that 10 "°
°) 7 > prt ity
9y out of 6 workers suffers £OT °
5 disease ? 5
d) =
7

99. What is lm_mv equal to ?

64

(@) .M. ® 755

1 . :
® 3 © &

3
© 3

; o ORI
@ 3 G

SR 102. What is the probability that at least
_Consider the following data for the next one out of 6 workers suffer from a
three (03) items that follow : disease ?

The incidence of suffering from a disease
- among workers in an industry has a chance @ 128

331%. ? 729

i U .mdS_/v s the probability that exactly (®) %
~ 3 out of 6 workers suffer from a
disease ?

80 -
@) 29

10
@ a1
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30] 2040 | 40-60] 6080
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|17 | Pte 2
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107. 7R x=2 W W L) =42y

w ﬂﬁuﬂsaﬂw..&s+m=ﬂgz

@R ? R
@5 (@) -2
®) 0
2%
v ; () 2
2
@ (d) ST T mﬁwmﬁg
@ 8 3 w1t firan s war

=
i

b y=x uwa %H.nuwm mwﬂ. .m.nwﬂ 3

kd
e gmI Y Jmn?ﬂﬂawmawmﬁgﬂ

@ 1 ) 27
2 s

®) : At @.m

© 3 3¢ i
Tt

@ 4 ®) 7°

105. 3R ¥ e N IRARAT G H A © W
A S W d) 1 =% g

@ 25

109. 9% xy=4225 %, @i x 3R
Hed €, A x+y W gaad AW
?7?

(@ 130
() 260
(© 2113

(d) 4226

104. What is the value of ¢ ?

Consider the following frequency digy;.
bution for the next three (03) items thy
follow :

Class 0-20 [ 20-40 | 40-60 [ 60-80 [30.109
Frequeney | 17 |p+q| 32 [pP=3q| 19

The total frequency is 120. .:53«5 is 50,

103, What is the value of p 7
(a) 25
) 26
© 27
d) 28

(@ 1
®) 2
) 3
@) 4

105. If the frequency of each class is
doubled, then what would be the

106. In which one of the following intervals

3
is the function f'(x) = .«w

decreasing ?

2
qw +6x+5

(@) (-, 1) only
®) (1, 6)

(c) (6, =) only

@ (o, 1) U5, =)

jon
107.If the derivative of the mBn“N
f(x)= l+nﬂ+_ vanishes at ¥~ <7
En:ﬂru:mnvaqiﬁami.fm:.w

108. What is the area included in the first
e.»uﬂavﬁinnu&ngnm&uhwum
y=x7?

(a) = square unit

0=

(b) 7 square unit

N

(€) 5 square unit
(d) 1 square unit
109. If xy=4225 irﬂnkw.»auuen.w_

numbers, then what is the um
value of x+3 ? 7




-

D—
DI oﬁqw%a.. R (@ 2+y2-2-W=1=0 \
—_?m&uﬂﬂ &&N B w".vw.. B 2 42 423+ 2y+1=0 ¥t p d)
8 ; L) x*+y 110. What does the equation x2% _ 5, _
N dx ~4Y=0 @) x?+)2-2¢x-2,-.1=0
,ﬂ.ﬂ : © 2 +.eN _x-2y+1=0 represent 7 : Y
@ ¥ WY 25 ®) x2+32+2c+2y4+1=0
“ (d) a2+yP-dx-dy+4=0 (2) A family of straight lines
(€) x2+)2-2x-2y+1=0
o -y
® @ I I 3 ircl
114, 7ifr (-3, 0) AR PRI x-3=0 oy O iy @ P4y -ax-4y+4=0
() T TEFE-F T w5 R TR ? (¢) A family of parabolas u - 3
114. What is the equation of the ﬂﬂ.ux
@ = Jefga-g (@ y*=3x d) A family o».. ellipses : W%uu“wﬂ focus (-3, 0) and dire
] ) =12y ; :
iR A& (=5, 0), (5p% 109) s ) 111, If the points with coordinates (-5, 0), @ Y=
(54, 10g) T g wda &, A pg ) y*=1z (592, 10p) and (5¢° 109) are collinear, T 1255
A s Lo then what is the value of E where
TAFME, 5’ prg ¥ @ y2=-12c S pea?
2 i o
@ 115, AT (2 +22=1 H TRE ¥ @y @ -2 3
Inﬂ W &y ) T
®) gl - ? e ® -1 - S 115. What is the distance between the focl
@1 @ 1 ‘ v RE b of the ellipse x2+2y2=17? i
7 a) 1
@ 2 ® V2 @
@ 2
) 3 ©) 2 \ : ) ®) )\M.
112. 98 & @1 1 Wi w1 S g g @ 5 )\n 112. What is the equation of the straight line ©-2
(1, -2) ¥ ToRet ¥ oK I W ﬂdﬂﬂ % which passes through the point (1, —2) . - "
k. Sade T @ 7 et it % - and cuts off equal intercepts from the @ 2v2 ’ RIS
g, > 116. IF m:_w_n _wmﬂ Q m.d_._mm w - axes ? ) - T
@ x+y-1=0 BC, Q&Akﬁm@ﬂﬂﬂﬂﬂﬂ& a, b M e g . 116. Let a, b, c be the lengths onvwEnm BC,
‘ : wﬂﬂnw _ﬁ.m Mﬂ@ﬂﬂﬂdﬂﬂdmﬂa (@) ;M+.u\I.H,Hc CA, AB respectively of a triangle 4BC.
®) x—y—-1=0 N 2 WWY ! 2 If p is the perimeter and g is the area
% : anﬂﬁ 4 of the triangle, then what is -
©) x+y+1=0 4 i ¢
: p(p—2a) suﬁ
@ g
®) 29
© 3¢ 113, <§.B is the equation of the circle
. which touches both the axes in the first

quadrant and the line y—~2=07?




19, a1 x4y=p @ Wﬂwﬂ G R ey ATPARI
w w Yarad & TG figy o point ew_m_a_q_nm.muwm%w L roUgh the 119, What i the equation of the 10cuS oEis
Reicculicell R (& p Tl E.EN«luklulo It cuts ann\u.—v.unuo i peidhal s L mn@dnnnﬁochw_.—“\
¥ =0. inter- cutting the li =p, (WA°©
den ) ? ! _o__o_uc in the fourth quadrant. What is Wv\u ann_mncnnwﬂ__‘w x&&?n\gon&huﬁ Y
Eo Sum of the absolute values of the axes 7 ;
@ x-p=0 ] tercepts 7
0 (@ x-y=0
() x+y=0 Dig
® 3 B) ztr=0
© x-y=p
© 4 e
d) x+y= :
d) x+y=p ¢ y @ 6 (@ x+y=p
N . : T (24, 0) 3K ar
115, f wfvaEt & s X 120. 3R g (x, ») ¥ ( h ) 3R (0, 3a) : 118. Under which one of the following  120- If the point (, y) is equidistant Sk
m+bytc=0R bx+ay+c=0 wmﬁaﬂwwﬂmﬂw ﬂ.ﬂﬁ%ﬂoﬂ. M .no“nm.”onmﬁnﬁn_manmnu+&~+auo the EHB Qﬂuunnvmbn— A“W qu:M‘%”o
: PN ar ? : and bx + gy + ¢ = 0 parallel (a + 0, a >0, then which one of the fo ;
TR (a=0,b%0) ¥? 0 b=0)? 5 & is correct 7 RS
(@ ¥ a-b=0 @ Z-el Ty @ a-b=0only - @ -0
() ¥ a+b=0 ®) 3x-2y=0 s e () a+b=0 only : - () 3x-2y=0
© #-$=0 (©) 4x—6y+52=0 o © @-$=0 e O gy rse=0
@ ab+1=0 ) 4x—6y—5a=0 (d ab+1=0 (d 4x—6y—5a=0
=+VQL 1o @1
i IO
= e g
s r,o+c, S2igy
r..%.o:.\mrlnwd|r =




